\mathbf{A}

	KANSAS GOVERNMENTAL ETHICS COMN RECEIPTS AND EXPENDITURES REPORT OF A CANDIDATE FOR STATE OFFICE October 31, 2022 FILE WITH SECRETARY OF STATE SEE REVERSE SIDE FOR INSTRUCTIONS		FILED OCT 27 2022 COTT SCHWAB ETARY OF STATE
Å	Name of Candidate: Dr. Robert Harmon		
	Address: 3015 W. 245th St		
		County:	Osage
	,	District:	
В.	Check only if appropriate: Amended Filing Termi	nation Re	port
Ċ.	Summary (covering the period from July 22, 2022 through October 27, 20. 1. Cash on hand at beginning of period		834.57
	2. Total Contributions and Other Receipts (Use Schedule A)		5300,00
	3. Cash available this period (Add Lines 1 and 2)		6134.57
	4. Total Expenditures and Other Disbursements (Use Schedule C)		6084.43 50.14
	5. Cash on hand at close of period (Subtract Line 4 from 3)		30.14
,	6. In-Kind Contributions (Use Schedule B)		

13000.00

D. "I declare that this report, including any accompanying schedules and statements, has been examined by me and to the best of my knowledge and belief is true, correct and complete. I understand that the intentional failure to file this document or intentionally filing a false document is a class A misdemeanor."

GEC Form 2022

7. Other Transactions (Use Schedule D)

SCHEDULE A CONTRIBUTIONS AND OTHER RECEIPTS

Dr. Robert Harmon

(Name of Candidate)

·	Name and Address of Contributor	Occupation of Individual Giving More Than \$150	Check Appropriate Box			ÞΧ	Amount of Cash, Check,
Date			Cash	Check	Lan	E funds Oiber	Loan or Other Receipt
08/02/22	Kansas Dental Association 5200 Huntoon St. Topeka, KS 66604	Kansas Dental Association		~			\$500.00
08/10/22	Robert and Ronda Harmon 3015 West 245th St Osage City, KS 66523	Robert-Retired Ronda-Accountant			•		\$4,200.00
08/18/22	Robert and Ronda Harmon 3015 West 245th St Osage City, KS 66523	Robert-Retired Ronda-Accountant			•		\$ 600.00
			•••••				
,			••••				
				-			
	Subtotal This Page			.			\$5,300.00

Page 1 of 3

SCHEDULE C EXPENDITURES AND OTHER DISBURSEMENTS

.	~		
110.	HATION	Harmon	۱
W .	, work		

(Name of Candidate)

Date	Name and Address	Purpose of Expenditure or Dishursement	Amouni
7/25/22	Osage County Herald 527 Market St Osage City, KS 66523:	Campaign Ad	\$429.56
7/25/22	The Emporia Gazette 517 Merchant St Emporia, KS	Campaign Ad	\$314.00
8/10/22	Singularis Group 1305 S. Fountain Dr. Olathe, KS 66061	Campaign Mailers	\$5,284.48
8/17/22	Osage County Herald 527 Market St Osage City, KS 66523	Campaign Thank You Ad	\$56,40
	Subtotal This Page		\$6,084.43

Page 2 of 3

SCHEDULE D OTHER TRANSACTIONS

Dr. Robert Harmon

(Name of Candidate)

Date	Name and Address	Nature of Account or Loan Payable or Loan Receivable	Bulance at Close of Period
6/17/20	Robert and Ronda Harmon 3015 W, 245th St. Osage City, KS 66523	Personal Loan	\$3,200.00
7/23/20	Robert and Ronda Harmon 3015 W. 245th St. Osage City, K\$ 56523	Personal Loan	\$3,500.00
7/6/22	Robert and Ronda Harmon 3015 W. 245th St. Ösage City, KS 66523	Personal Loan	\$500,00
7/21/22	Robert and Ronda Harmon 3015 W. 245th St. Osage City, KS 66523	Personal Loan	\$1,000.00
8/10/22	Robert and Ronda Harmon 3015 W. 245th St. Osage City, KS 66523	Personal Loan	\$4,200.00
8/18/22	Robert and Ronda Harmon 3015 W. 245th St. Osage City, KS 66523	Personal Loan	\$600.04
	Subtatal This Page		\$13,000.00

Complete if last page of Schedule o

TOTAL OTHER TRANSACTIONS (to line 7 of Summary)

Page 3 of 3